COP3530 Recitation Exercises 2/11/03

*1) Starting with the Red-Black Tree below, determine the structure/color of all nodes in the tree after each of the following operations. (Note: Black nodes will be in bold, Red in italics.)
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a) Insert(25)


b) Insert(33)


c) Insert(14)


d) Delete(40)


e) Delete(20)

*2) (C-3.18) Let T be a red-black tree storing n items, and k be the key of an item in T. Show how to construct from T, in O(log n) time, two red-black trees T' and T", such that T' contains all keys less than k, and T" contains all the keys of T greater than k. This operation destroys T.

*: If there is time, a group should go over each of the two problems with the class.

